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General Instructions :

2135

(i) This question paper contains 30 questions.
(i1) Question 1 to 18 are of one mark each.
(iii) Question 19 to 22 are of three marks each.
(iv) Question 23 to 26 are of four marks each.
(v) Question 27 to 30 are of six marks each.
(A) Which of the following is not true about Capital Expenditure ? 1
(a) Creates future benefits
(b) Incurred to acquire fixed assets
(¢) Incurred to increase the economic life of existing fixed assets.
(d) Reduces the profit of the concern.
OR
(B) A company spent T 20,000 on painting of its building. It should be
recorded as :
(a) Revenue Expenditure (b) Capital Expenditure
(c) Personal Expenditure (d) Deferred Expenditure
Cost incurred for the maintenance of shop is considered as 1
(a) Loss (b) Gain
(¢) Capital Expenditure (d) Revenue Expenditure
(A) Depreciation will be charged on which of the following ? 1
(a) Fixed assets (b) Capital
(¢) Current assets (d) Liquid assets
OR
(B) The value of a fixed asset after deducting depreciation from the

historical cost 1s called

(a) Fair value (b) Book value
(¢) Market value (d) Net realisable value

Page 3 P.T.O.




4. (A

(B)

5. (A

(B)

6. (A

(B)

1 319, 2022 1 wF. fefieg 73 wh 2 T 16,00,000 § ©ler | 59 W oedt et
7o Tafer gra 12% 9fa o <t @ § Yeagt@ @ SR | 31 |, 2023 1 3

1 T ool oI AT 2
(a) T14,08,000 (b) %12,00,000
(¢) %15,00,000 (d) ¥8,00,000

AT
1 foraesr, 2022 =1 & fdfieg 3 2 8,00,000 6 @0d & T A @l g W
Hieft @ qeasE fafy gra 15% ¥fd av 6l & § Jeas™ o SR | 31 979,
2023 <! T B ITel Y o foTT qeargra Uiy = g 2

(a) 80,000 (b) 70,000
© % 60,000 ) % 90,000
et @ qeus fafy 4 qes™ &l AT T M fohan STTa 2 |
(a) e HOto (b) A HxrEl
(c) Tt gulat (d) Hreafes qutaar
AT
Tereht aftgutes < hTRTSH SiaH o &g 3Heh JTATHA forshl Hoot ol el ST & |
(a) STer e (b) T (W) 7T
(c) SR (d) & H7ed

HH-1 : oo foeor o ITHR Uehs el I TR 1 fieH & o fore anfiess &9 4
S TETe feratr daR fR Smar # |
HA-I1 : seh THTE forator sieh gRT 3T WIaTees g oft dam fepan Siran 2 |
(a) QI Terd 8 | (b) THIFIATAE |
(c) HaAHY-IITH R | (d) SIARSH-I TR |
AT
Frafafea @ 9 = o1 oF-c7 d gaTaE faerer dUR St g9T SieT AU A9
TFe TR HTAm IV e g ¢
(a) = S fopart 7o ifehar 37t ek A o foTe e =&l fopan e & |
(b) =k TRI FeRraT T TifeRH Tk S8t § Y[eTar™T €Sl A&l fohall 7T |
(c) o g U H hl TRt hIg TTerd ATH G |
(d) S Yoo TR e g Toran I aret HHtee

7. 1%@E, 2023 1 et 3a faf o < wdia & s1g < grm, feret St uftasrerar fafyr g -

(a)
(©)
2135

4 34, 2023 (b) 1031, 2023
8 313, 2023 d) 1131, 2023
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4. (A

(B)
5. (A
(B)
6. (A
(B)

EH#E

.E HHH
On 1st April, 2022 S. Ltd. purchased a Truck costing ¥ 16,00,000.
Depreciation was to be charged @ 12% p.a. by written down value
method. What will be the book value of Truck on 31st March 2023 ?
(a) T14,08,000 (b) 12,00,000
(c) T 15,00,000 (d) 8,00,000

OR

On 1st September 2022 A Ltd. purchased a machine costing
% 8,00,000. Depreciation was to be charged @ 15% p.a. by straight
line method. What amount of depreciation will be charged for the
year ending on March 31, 2023 ?

(a) 80,000 (b) 70,000
(c) 60,000 (d) 90,000
Depreciation is provided in S.L.M. on cost of
(a) Current Assets (b) Liquid Assets
(¢) Fixed Assets (d) Fictitious Assets
OR
Estimated sale value of an asset after its working life is called —
(a) Original value (b) Scrap value
(c) Market value (d) Book value

Statement-I : Bank Reconciliation Statement is prepared annually
to reconcile balance as per Cash Book with balance as per bank
Statement.
Statement-II : Bank Reconciliation statement is prepared by the
bank and also the account holder.
(a) Both the statements are false.
(b) Both the statements are true.
(¢) Only statement-II is true.
(d) Only statement-I is true.

OR
Which of the following transaction will be added while preparing
Bank Reconciliation statement when debit balance as per Cash Book
1s given ?
(a) cheque issued but not yet presented for payment
(b) cheque issued but omitted to be recorded in the Cash Book.
(¢) Any wrong debit given by bank in the Pass Book.
(d) Bank charges and commission charged by bank.

7. A bill dated 1st February, 2023 is payable two months after date. The
maturity date of the bill will be :

(a)
(©)
2135

4th April, 2023 (b) 10th April, 2023
8th April, 2023 (d) 11th April, 2023
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8. Tuaurmwmaz
(a) SAfFTTT @I (b) Eufd @ra
(c) STEferh Tl (d) I @

9. The FEI % ITTHN shie< 3N T 30,000 & | T 5,000 1 ek sieh H ST fohaT AT i deh
BRI @A H shige &l feham T 37 3 7,000 o ST fohT 1T <%k 1 SITaT o fote, S -1l
Torer TR 7 | Sieh ToreroT 3 STHER I Tl o gt ?

(a) % 42,000 (b) ¥ 28,000
() 27,000 d) % 32,000

10. (A) U seh Gy ferewor g
(a) Uhe =& 1 Teh W
(b) Sk UTHE T Teh A
(c) S g dA foma e e feremor
(d) TTEH g dIR fekaT T Ueh fereom

YT
(B) UTHS T Fid Bidll @

(a) o g U UTEh @ral
(b) o T | TS Ushs &
() Uhe & U Heiftd Uehe Sl

(d) wY s Tt
11. (A) WH &1 Fehat o9 T 1,20,000 B | SHEATHET 3T 9d4 T 50,000 § AT ST T i
340,000 & | g o9 BATI |
(a) 2,10,000 () % 1,10,000
) 90,000 () % 1,30,000
JTET
(B) Y 1 Tehel o T 5,00,000 o | F=AfeiRaa & & fepmep aftomreaey 3¢ @y
g Brft 7
(a) oo (b) femmn
(c) HHIIM 9T B3 (d) #Hq
12. 9 S5 qUTE TG U o STER shise 319 o A1 qIT FohaT STTaT & a1 e 31 g0
(a) TS e * AN <fere 3w (b) TTHEH % AR <fere AW
(c) Uhg &l o FTHR hise Iy (d) (a) 31> (b) SHIH W I3 Th G
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O
8.  The Bill receivable account is a/an 1
(a) Personal Account (b) Asset Account
(¢) Real Account (d) Nominal Account

9. Credit balance as per Cash Book was ¥ 30,000, cheque deposited ¥ 5,000
were not credited by bank and cheque issued ¥ 7,000 were not presented
for payment. What will be the resulting balance as per Bank Statement ? 1

(a) 42,000 (b) 28,000
(c) 27,000 (d) 32,000
10. (A) A bank reconciliation statement is — 1

(a) A part of Cash Book
(b) A part of Bank Pass Book
(¢) A statement prepared by the bank
(d) A statement prepared by a customer
OR
(B) A Pass Book is a copy of
(a) A customer’s account in the bank’s books
(b) Cash book relating to bank column
(c) Cash book relating to cash column
(d) Firm’s receipts

11. (A) Gross profit of the firm was ¥ 1,20,000. There were salary of staff

% 50,000 and interest received T 40,000. Net Profit will be . 1
(a) %2,10,000 (b) %1,10,000
(¢) 90,000 (d) 1,330,000

OR

(B) Gross Profit of the firm was ¥ 5,00,000. Which of the following will
result in increase of Net Profit ?

(a) Advertisement (b) Rent
(¢c) Commission received (d) Repairs

12. When Bank Reconciliation statement is prepared with credit balance as
per Pass Book, the balance derived will be : 1
(a) Debit Balance as per Cash Book
(b) Debit Balance as per Pass Book
(¢) Credit Balance as per Cash Book
(d) Either (a) or (b) is possible

2135 Page 7 P.T.O.




13.

14.

15.

16.

17.

2135

E5E
OF
forfom foar 9 e 2
(a) A 1 3T (b)  ¥TAH T T I
(c) YT A T dTe] (d) 3ATEal gRT TesR femam T
(A) FET=E: YU FATCTE! T T SR R ST 2 |
(a) =MRI (b) HH
(c) hEt (d) R
JAYAT

(B) afe a¥ % 31d@ # T 40,000 St 7, 99 = <A SAfafer gsit F&r € 30,000 g3
TETT M T 20,000 B 3R T 60,000 HTSA T 1 7, 1 9 <hl o371 H it off

(a)
(©

% 90,000
% 70,000

el feremor eoiiar 2

(a)
(©

AT AT I
wrat s Ffeat

(b) % 80,000
(d) % 10,000

(b) T feafy
(d) T IR

AT 3T BT @i | 2fere <hY 3Aferehar <l HE AT |

(a)
(©)

(A)

(B)

3G AN
Hehed H

3ifem wieh =1 g ST B

(a) ARG & AH I T

(b) Y- @Id & TH IS

(c) TITY-BTH GTd o SIHT 9&f |

(d) SR GTd & 9T U&7 |
AYAT

feRtrer & e fehra e a2
(a) SR @A % T8 97 §

(b) TTV-FTH GTd o THT 98T |
(c) Teufa foawor it eeriat 6 o
() feufa foamo i gufai i @
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DI
13. A bill of exchange consists of 1
(a) An order to pay (b) A request to pay
(¢) A promise to pay (d) Acceptance by the drawer
14. (A) Generally, incomplete records are maintained by . 1
(a) Trader (b) Society
(¢) Company (d) Government
OR

(B) If capital at the end of the year is ¥ 40,000; Additional Capital
introduced during the year ¥ 30,000; drawing for the year ¥ 20,000
and loss for the year is ¥ 60,000, then capital at the beginning of the

year was :
(a) 90,000 (b) ¥ 80,000
(¢ 70,000 (d) 10,000
15. Balance Sheet shows 1
(a) Profit or Loss (b) Financial Position
(¢) Errors of Accounts (d) Total Debtors
16. Excess of debit in Profit and Loss Account is called : 1
(a) Net profit (b) Net loss
(¢) Gross profit (d) Gross loss
17. (A) Closing Stock is shown on the . 1

(a) Debit side of trading account
(b) Debit side of Profit & Loss account
(¢) Credit side of Profit & Loss account
(d) Credit side of trading account
OR
(B) Rent from Tenant is shown on the
(a) Debit side of trading account
(b) Credit side of Profit & Loss account
(¢) Liabilities side of balance sheet
(d) Assets side of balance sheet

2135 Page 9 P.T.O.




18.

19.

20.

21.

22.

23.

ST
Tehed TS gorreft ERGCIRCRIREI I
(a) TE STfecr
(b) TG YA
(c) QM TG ST qUT TG T
(d) SURHH
ol = % BiE i S AT |

31 9, 2023 ! T 98 1 {ar 7 fofir= w1l w f=fafad == o | s s am /
YehR TgaH |

(a) T8 T = T o fote 2 25,000 T Yrar feram T |

(b) TATHETE! o HRUT T 5,000 AT ! HTETIHT UL |

(c) HEI-JEUh o hIATAT oh TI—heIT shl AT |

oI TR shi fopet fafer o afavia TRIYER vl H Yoag™ 38k Sfiad o TRl o aui
1 T H 3Tk TR 1S ST & 7 39 {19 36 RIS &f 07 Farsy |

(A) 1 SFedl, 2023 %1 X’ 1 Y’ &I T 50,000 T A &= | 35T fTdfr w1 X T Y W
T 7EH w1 T 50,000 o1 foet foran T Y 3 wfiehR e foram 31 X <hl anfug
& feam | X A <7 fafr ae foret &1 319 e @t a2t foaa o1 e o fafsr e
femm T | X SR gEaehl H U ST bl TSTHTH=ET Tfafsat Shifsw |
JAYAT
(B) 1 femms, 2023 &I I 7 AR & T 35,000 T AT @lET 3R 2 TEH & fou weh
foret Teffepm fopar | foret st sy <t forfer o o e T | Suier oiFieHT <6 fote g
1 gEeh! | Tstme= Sfafear Hife |

15 A, 2023 ® X’ & Y’ § 4 TEH o f7T T 10,000 1 @iepfd 7 g5 | X 9 39
TfRid I 15 31, 2023 1 3T S H 18% Jid I8 & F 5 T A1 foe | < faf
TR Y’ 1 fore 1 e B fean | X0 3R Y 1 Ikl § SHel SISt shifg |
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18.

19.

20.

21.

22.

23.

2135

In single entry system are recorded.
(a) cash receipts

(b) cash payments

(c) Both cash receipts and cash payments

(d) Credit transactions

Give any three examples of Capital expenditure.

Rita incurred the following expenditure on various items during the year
ended 31t March, 2023. Identify the name/type of expenditure.

(a) 25,000 paid for the installation of a new machine.
(b) Repairs of ¥ 5,000 necessitated by negligence.

(c) Cost of air-conditioning of the office of the General Manager.

Under which method of charging depreciation more amount is charged in
the initial years as compared to the later years of its life ? Give any two
merits of this method.

(A) On 1st January, 2023 X sold goods to Y for ¥ 50,000. On the same
date X drew a bill on Y for ¥ 50,000 due after three months, Y
accepted the bill and returned it to X. X retained the bill till the due
date and Y met the bill on due date. Pass journal entries for the
above transactions in the books of X.

OR

(B) On 1st December, 2023 Z purchased goods from R ¥ 35,000 and
accepted a bill for two months. The bill was met on due date. Pass
Journal entries for the above transactions in the books of Z.

On 15tk March, 2023 Y accepted a bill drawn upon him by X for four
months for ¥ 10,000. X discounted the bill on 15t April, 2023 at 18% p.a.
from his bank and Y met the bill on maturity. Give the Journal Entries in

the books of X and Y.
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24.

25.

26.

27.

E5E
o
(A) Tr=faRad Smeei @ 31 7, 2023 1 EET &1 S guTeM foeror dar Hifse
(a) Uehe wE % AN fere 39 2 3,72,000.
(b) T 72,000 T e TARI TehT TRAT ifeh e b foTu S & fohem T |
(c) o gRI T 5,000 T ATHI I G SN Uehe el H o A&l fohaT 7T |
(d) ¥ 1,250 S % gRI A &9 H fed T |
JA¥an
(B) 31T, 2023 ! FUR 1 deh THIYT forawor G i ;
(a) 38 faf i urEes shise 3w 3 15,000 fegmn wi |
(b) T 4,800 = ST TR 7T TR T o foTw, g & fohdr T |
(c) Sih g ST <hl 1S =TT <h WIRT T 150 off |
(d) T 25 h o Yooh TR T Uk & T gt a1 fehaT T T |

1 34, 2023 &I |7 7 T 4,00,000 T IS ¥ MR A Fopam, 364 T 75,000 Hi
Frfafiar gSit oI | 99 < gRH 38 8,000 Ui #Tg ehrer, Afg 31 femwsr, 2023 i
3ifaw gSft % 4,50,000 7 A1 31 fe@wsr, 2023 w1 wuTed 9y o foTw @ 37K g1iH 6t 1o
AL |

(A) AR QAT 1 IR fem ST 7 ¢ fohedl €1 aegat & A1 Sanse e SR @l
% STHT T TN fehan ST 2 |
YT
(B) el o9 o1 8 ? YU o4 % hig &l IETELT ST |

FreferRaa waeti <1 forameT Tehst <1 & ST STIAT WTAT 31901 JoTTelt § @l &, = Ser
31 A, 2022 3R 31 A/, 2023 H & :
fafsre 314H, 2022 %) 319, 2023 (%)

ENIE] 16,000 16,000

e 4,000 4,000

TSI 14,000 10,000

Tafaer Ter 8,000 9,000

EED 400 3,600

Terferer oeR 10,000 7,000

TN 2022-23 % TR I8 5 Yot <6 €9 H T 600 FHaw1 fopt 31K 379 SAfFTa 3Tt o forw
Y o GRM T 4,100 T JATEX0T fohAT | 31 AT, 2023 <! THT G TN T AT T ShITT, |
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24.

25.

26.

27.

(A) From the following information, prepare Bank Reconciliation
Statement of Sohan as on 31st March, 2023 :
(a) Cash Book showed a debit balance of % 3,72,000.

(b) Cheque issued but not yet presented for payment amounted to

T 72,000.

(c) Dividend received by the bank, but not entered in the Cash
Book % 5,000.

(d) Interest allowed by the Bank ¥ 1,250.

OR
(B) Prepare Bank Reconciliation statement of Kumar as on 31st March, 2024 :
(a) Pass Book showed a credit balance as on the date ¥ 15,000.
(b) Cheques issued but not presented for payment 3 4,800.
(¢) Interest credited by bank amounted to I 150.

(d) Bank charges amounted to ¥ 25 were not entered in the Cash
Book.

Manu started business with a capital of ¥ 4,00,000 on 1st June, 2023. He
introduced additional capital of ¥ 75,000. He withdrew % 8,000 per month
during this period. If the closing capital as on 31st December, 2023 was
T 4,50,000, calculate profit & loss for the year ended 315t December, 2023.

(A) Why 1s Trading Account prepared ? Name any two items that are
transferred to the credit of Trading Account.

OR
(B) What are Direct Expenses ? Give any two examples of Direct Expenses.

Following is the position statement of Rakesh who maintains his accounts
in incomplete system as on 31st March, 2022 and 31st March, 2023 :

Particulars 31st March, 2022 () | 31st March, 2023 ()
Machinery 16,000 16,000
Furniture 4,000 4,000
Stock 14,000 10,000
Sundry Debtors 8,000 9,000
Bank 400 3,600
Sundry Creditors 10,000 7,000

2135

During the year 2022-23 he introduced ¥ 600 as fresh capital and
withdrew ¥ 4,100 during the year for his personal use. Ascertain his profit
for the year ending 31st March, 2023.
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28. M fefies it Tehe o1& gRT T 3,92,000 T T8 Y ST =47 |
(a) ¥ 92,000 o = SR fohdl 7T 9T T &g Sqd el 8¢ |

(b) Sih G ITSd AT T 5,000 <h! Uehe &I H & &1 15T 7T |
(c) SIS EIH T 1,250 AT Fohd A 78 Tehe ot o @t T&1 fepam mam o |

(d) T 200 S ek AT Tt T |
(e) T 320 1 <eh Seh T STHT Tkt TTT ST SIS &1 4T |

Soh AT Teremur dr HifsT |

29. g1 fafiee 3 1 JeE, 2020 1 T YT T3 ®1 T 80,000 W Gier e w38 @i
3R 39 SHUgR W 30,000 @ R | wedt gt fafr o6 gra 10% afa ad hr @x &
oI T T | 98 W §U foh q&deh Wi 9% 31 WIH ol &g i STl &, 3 a§1 o foTg
TR @raT IR HIf |

30. TEE YW W TH 1 HAMINH Gdl, ATH-8IH @rar 31 Rufa faewor samr hifve |
frferfad SRRt 31 W, 2023 o aufd W Ietsd 7 | 3y JER %1 4o T 20,000 7

G TE IUEd 31-3-2023

QT 1AW Im I ) T A (%)
I Wik 19,400 —
Tl 3 fesht 6,50,000 7,80,000
T 20,000 20,000
TER 3R &ER 38,000 87,200
< foa - 25,200
ENIET] 1,00,000 -
T 2,50,000 -
EED 1,00,000 -
LR 40,000 -
I 40,000 -
EIE] 15,000 -
it - 3,60,000
12,72,400 12,72,400
2135 Page 14
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28. Debit balance shown by the Cash Book of Shyam Limited was ¥ 3,92,000.
(a) Cheques issued for ¥ 92,000 was not presented for payment.
(b) Dividend received by the bank, ¥ 5,000 not entered in the Cash Book.

(c) Bank had credited T 1,250 as Interest which was not recorded in
Cash Book.

(d) Bank charges debited T 200.
(e) Cheque deposited into bank ¥ 320 but it is dishonoured.
Prepare Bank Reconciliation statement.

29. Chandra Ltd. purchased a second hand machine for ¥ 80,000 on 1st July,
2020 and spent ¥ 30,000 on its overhaul and installation. Depreciation
was to be provided @ 10% p.a. by written down value method. Prepare
machinery account for 3 years assuming the books are closed on
31st March every year.

30. Prepare Trading Account, Profit and Loss Account and Balance Sheet of
M/s Sharma and Sons from the following information for the year ending
31st March, 2023 when closing stock was valued at ¥ 20,000.

Trial Balance as on 31-3-2023

Name of Account | g 200 ®) Ba(lj;elg;t(?)
Opening Stock 19,400 -
Purchase and Sale 6,50,000 7,80,000
Returns 20,000 20,000
Debtors and Creditors 38,000 87,200
Bills Payable - 25,200
Machinery 1,00,000 —
Building 2,50,000 -
Bank 1,00,000 —
Wages 40,000 -
Salaries 40,000 —
Interest 15,000 —
Capital — 3,60,000

12,72,400 12,72,400

2135
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